Extra Homework

For Chapter 8

1. (Equity or debt financing) A company needs to raise 3 million dollar fund for a project. The owners of the company have a choice of equity financing and debt financing. The duration of the project is expected to be 20 years and each year the project is expected to generate 2 million dollar revenue. When there is no stress in cash flow problems, the variable cost in 60% of the revenue. For an equity financing, the external investor will require a rate of return that is consistent with equity market return. Inferred from CAPM, the risk premium will be 6%. Current risk free rate is 5%. The external equity investors will take the share according to the project value calculated by discounting future earning streams with the discount rate determined by CAPM. The bank loan will be 2% above the risk free rate. However, the added financial strain from regular interest rate payment will increase the variable cost by 5% of the revenue. From the original owners’ perspective, which financing method should they adopt? 
2. (Bond or bank loan) A company is seeking 10 million loan that will mature in 10 years. It has a choice between bank loan and public debt. A bank loan rate is 2% above LIBOR rate. Public debt is 1% above LIBOR rate plus a one time underwriting fee of 0.5 million dollar. Assume interest payment is annual. All cash flows are discounted at 6%. Calculate the cost differential between two methods and determine which fundraising method the company should adopt. If the bank loan rate is 1.5% above LIBOR rate and other conditions remain the same, which fundraising method the company should adopt? In general, large and well known companies often have lower spread in the bond market than the small and less well known companies. Do larger or smaller companies utilize public debt market more often? 

For Chapter 10

3. (Economy of scale) Suppose the initial investment on IT technology to replace checking with online transaction is 10 million dollars and the maintenance cost of the IT system is 1 million dollar per year. The system will last 10 years. The cost of each check clearing is 1 dollar and the cost of each online transaction is negligible. Assume the number of transaction is the same every year. How many transactions each year are required for the new IT system to break even, assuming discount rate is 10% every year?  
For Chapter 11

4. (Effectiveness of financial policy) Suppose a house is sold for 300,000 dollars. The required down payment is 25% of the house price. The rest of the money is borrowed through a 30-yeat mortgage with monthly payments. What is the amount of borrowing? The annual percentage rate on the mortgage loan is 7%.   Calculate the monthly payment. Now suppose the government tries to making housing more affordable. It reduces the interest rate to 4%.  What is the new monthly payment on the mortgage? Does the government policy improve the affordability of housing market? If the housing supply doesn’t increase, the people who can afford the monthly payment of the original 300,000 dollar house will likely to buy the same kind of house. What will be the new housing price if monthly payment is the same at the level when interest rate was at 7% and down payment is 25% of the housing price?  What is the new down payment? Who will benefit from the low interest rate environment? Over the long term, will the government policy alone  improve or deteriorate the affordability of housing market? 


The formula for Present value of an annuity is 
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For Chapter 26

5. Inflation rate is calculated from the weighted average of price increase from the various economic products. Since people tend to decrease spending on products whose prices increases substantially and increase spending on products whose prices decline or increase less, the change of weights of consumer spending often highly correlated with price changes. This may make CPI a less reliable measure of inflation over a long period of time. We will use a numerical example to illustrate this. Suppose there are two products in an economy. Initially, product A is weighted 30% in economy and product B is weighted 70%. In the first period of time, product B’s price increased by 20% and product A’s price remains the same. In  period 1, product A is weighted 70% in economy and product B is weighted 30%. Calculate the CPI of the economy is period 1. In the second period of time, product A’s price increased by 20% and product B’s price remains the same. In  period 2, product B is weighted 70% in economy and product A is weighted 30%. Calculate the CPI of the economy is period 2. What is the average of inflation rate in the two time periods calculated from the average of CPI? If we calculate the average inflation rate from the price data from the beginning to end, what will be the average inflation rate? Which number reflect the reality more truthfully? Why? 
6. In an economy, if money supply continues to grow and real economy remains the same, will there be inflation? In an economy, if money supply remains the same and real economy shrinks over time, will there be inflation? Milton Friedman stated that “inflation is always and everywhere a monetary phenomenon”. Do you agree or not? Why? 
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